CHAPTER 8 – IMPLEMENTING THE STRATEGY
AIMS OF THE CHAPTER
Chapter 6 described an approach to designing an operations strategy, giving the contents and type of decisions that form its nucleus.  Then chapter 7 described some analyses of the internal operations and external environment that could help with this design.  So we now have a good idea of the shape of an operations strategy.  The next step is to consider its implementation – thinking about the important points for the strategy’s execution.  These include a description of the operations infrastructure, followed by activation of lower decisions, and then control the results.  

The aim of the chapter is to look at some considerations for implementing the strategy.  More specific aims are to:
· understand the concept of implementing an operations strategy
The design of an operations strategy shows the long-term aspirations and intent – implementing the strategy makes sure that these are realised.  Operations strategies only become effective when they are implemented, which means that the strategic plans are carried out and translated into positive actions.  There are essentially two parts to implementation.  The first starts the cascade of decisions and actions down through the organisation, and the second monitors performance to make sure that planned results are actually achieved.  (We might also add an initial, third stage of making sure that an appropriate operations infrastructure is in place.)  
· discuss the infrastructure needed to support an operations strategy
Implementation cannot really start until an appropriate operations infrastructure is in place.  The operations infrastructure consists of the organisational structure and the systems, human resources, culture and resources to support it.  Within this framework managers have to consider:

· the way the operations function fits into the broader organisation

· the internal structure of the operations function

· information, communication, financial, control, and other support systems 

· internal policies, methods and culture that support the implementation 

· budgets and resources for operations 

· integrated supply chains to ensure the flow of materials

· motivation of people to pursue targets

· leadership to drive implementation forward and to continually look for improvements

· describe the different types of organisational structure
An organisational structure divides a whole organisation into distinct parts, and defines the relationships between them.  It shows who has responsibility for what, who has authority over whom, and who reports to whom.  The main options are a functional structure, a product structure, a hybrid combining the two, some type of matrix structure, or self-managed groups. 
· outline the systems, human resources and culture needed for the infrastructure
After designing the organisational structure, managers have to add the systems to support it.  These include systems for accounts, communications, information, order processing, customer relations, and other basic systems that support operations.  These essentially collect data, analyse it and move the results around the organisation.  If we add the human resource aspects of the organisation (staff levels, responsibilities, employment conditions, motivation, etc) and the intangible culture (defined by the values, norms, beliefs and assumptions that influence the way that people within the organisation think and behave) we have the infrastructure needed for implementing an operations strategy.
· discuss the activation of an operations strategy 
Activation of a strategy means that a cascade of decisions moves down through the organisation to translate the ideas and concepts of the strategy into actual operations.  Ideas and actions move down through strategic, tactical and operational levels to translate aims and aspirations into positive actions.  
· list areas for strategic operations decisions
Opinions about these differ, but the book concentrates on the six strategic areas of product development (including types of products, innovation, breadth of range, new product development, flexibility), quality management (including the aims, tools and programs for ensuring customer satisfaction), process design (including type of process, technology, measuring and improving performance), capacity management (including measures of capacity, capacity planning, the size and timing of capacity changes), structure of the supply chain (including design options, integration of operations along the supply chains, and location of facilities), and movement of materials (including procurement, inventory management, and transport).
· appreciate the role and structure of a control system
A control system monitors the performance of operations and adjustments the strategy to improve its performance.  There are five parts to a control system to:
1. review the goals, objectives and constraints of the operations strategy 

2. monitor conditions and changes in the operations and their environment

3. measure actual performance of operations in key areas

4. compare this actual performance with plans from the strategy and identify gaps 

5. adjust the strategy to improve performance, moving or adding resources, revising plans, or in the extreme changing the whole strategy

· consider the schedule for implementation
An action plan gives a timetable for implementing the operations strategy.  So the basic elements of an action plan are a list of the activities needed for implementation, and a timetable showing when each of these activities is performed.  It might also include other information, such as a review of the strategy’s aims, a review of decisions and policies for operations areas, a ‘to do’ list for implementing the strategy, responsibilities for each activity, timetable for activities, budgeted costs,  and expected flow of funds, resources needed, and any other relevant information. 

DISCUSSION QUESTIONS
1. How would you set about implementing an operations strategy?

The design of an operations strategy shows the long-term aspirations and intent – implementing the strategy makes sure that these are realised.  So implementation consists of all the activities that turn the vague thoughts and ideas in the operations strategy into actual operations to make products.  This is a complex job and there are no formulae or procedures that inevitably lead to the best solutions.  However, five common requirements are to:

· design the infrastructure for operations  

· initiate decision-making at lower levels,  or ‘strategy activation’

· monitor and control actual performance.  

· design an action plan for implementation.
· exercise strategic leadership  

2. Senior managers can never be close enough to the operations to understand properly how they work.  So their strategies are based on unrealistic views and there will always be problems with implementation.  What can be done to avoid this?

This question returns to the discussion of chapter 6 which compared top-down design of a strategy to bottom-up emergence.  It is true that senior managers cannot understand all the consequences their strategic decisions will have at an operational level – and if they work in isolation it is likely that their strategies will be unrealistic.  The way around this is to make sure that people at lower levels of the organisation, who are familiar with the detail of operations, have a significant input to strategy design.  
3. Books on strategic management emphasise the design of strategies; in practice managers have more problems with implementing strategies.  Why is there this difference in emphases?

There are similarities in the design of a strategy in different organisation, so it is possible to give general advice and describe methods that can be used in a broad range of different organisations.  Implementation of the strategy is more diverse and depends on the circumstances in each organisation.  So it is much more difficult to describe general principles.  Implementation is probably the most open-ended part of strategic management, and it is often difficult to give even convincing guidelines.  It is also fair to say that much more work has been done on design than implementation, so there is a bigger pool of knowledge to draw on. 
4. What are the main parts of an operations infrastructure?

The operations infrastructure consists of the organisational structure and the systems, human resources, culture and resources to support it.  This gives the broad framework for operations, and managers then have to consider the more detailed features – such as the information, communication, financial, control, and other support systems (see the list above).  
5. Does the organisational structure of the operations function really affect its ability to implement a strategy?

Yes.  An organisational structure divides a whole organisation into distinct parts, and defines the relationships between them.  It shows who has responsibility for what, who has authority over whom, and who reports to whom.  It follows that the people who make the decisions for implementation, and the efficiency with which these decisions are transmitted and activated, depend on the organisational structure.  Taking a simple illustration, a company with a flat structure can transmit decisions and information much faster than one with many layers of bureaucracy.  Similarly, a business with all operations combined into a single unit can make decisions about operations more efficiently than one where the function is dispersed around different departments.  
6. 'Happy workers are productive workers.’  Is this true?

Only to some extent.  People are happiest when they are achieving their own individual goals, and working is a way of doing this.  If the aims of an individual are achieved by them being highly productive (at a simple level paying them more to produce) then happy workers are also productive.  Conversely, individual aims might be satisfied when they are not at all productive.  For example, arrangements that allow people to get paid a lot for doing little work, mean that they are both happy and unproductive.
7. A control system gives feedback to managers – in the way that a cybernetics view considers most of management to consist of feedback loops.  What does this mean?

Feedback means that results of earlier actions are fed-back to influence later actions.  With management it means that the consequences of previous decisions are passed back to managers, who can review these consequences and use information about performance to help with their later decisions.  In effect, they can learn from past experiences.  With this view, much of management can be seen as using previous experience to influence later decisions.  
8. Risk management is based on the belief that managers can give a probability to future events.  But if they knew what was going to happen in the future, there would be no risk.  So why bother with risk management? 

There are differences between not knowing what will happen in the future (suggesting ignorance), knowing what might happen but not being able to put probabilities to events (uncertainty), knowing what might happen and being able to put probabilities to events (risk), and knowing exactly what will happen (certainty).  So decision making with risk means that managers know what events might happen in the future, and they can estimate probabilities for them.  This certainly does not mean that they know what actually will happen.  You know the probabilities of certain numbers winning a national lottery – but this is a long way from knowing what will actually happen. 
IDEAS IN PRACTICE

North Island University
Aim: to suggest an approach to implementing a strategy, and show how this was done in one organisation.  
North Island University has made a lot of progress towards the design of an operations strategy.  It formed a group – the steering committee – who will play a leading role in the modification of the current strategy, or the design of a new one.  This group has done some analyses and has identified key factors in its operations.  These are presented in the outline of a SWOT analysis.  The university is now moving on to look at each factor in more detail and has made different groups responsible for each factor mentioned in the SWOT analysis.  They will consider their factor in more detail, do follow-up work and report back to the steering group.  Eventually, after considering all relevant information, this group will bring together the separate threads of their ideas and agree a statement of the operations strategy. 
General Electric
Aim: to mention a classic example of a reorganisation that helped turn a huge struggling corporation into a much more efficient one.  

After gaining attention – and even notoriety – for his work at GE, Jack Welch has promoted his methods and has become something of a management guru.  Certainly the transformation of GE and its subsequent success owed much to the fundamental reorganisation.  However, other factors played a considerable part and people have questioned the Draconian management style that sacked half the work-force.  A problem with assessing strategic decisions is that only one alternative is implemented – and no-one can say how successful any other option would have been. 
McDonald’s and Wal-Mart
Aim: to mention the way that a strong culture effects operations over the long term

This case mentions two organisations that are well-known for their strong positive culture.  Both of these cultures are grounded in the beliefs of the company founders.  The McDonald brothers originated the ‘Quality, Service, Cleanliness and Value’ culture that still exists in McDonald’s, and Sam Walton initiated Wal-Mart’s values  of dedication to customer service, treating employees as partners, zealous pursuit of low costs, frugality, etc.  These beliefs were set decades ago, and subsequent managers have continued to develop them into patterns of shared values and behaviours that benefit the organisation. 

Shell Canada Limited
Aim: to show how strategic aspirations are turned into operations in a major oil company

We have met Shell before when considering environmental concerns, but here are looking at its operations in Canada.  It is guided by the Group’s business principles which include their responsibilities to shareholders, customers, employees, trading partners, and society.  But these vague aspirations have to be translated into actions, with the company finding gas and oil, moving it through the supply chain, refining it, and delivering it to customers.  This involves huge and complex operations, and the case lists some of the activities involved.  
McKlusky-Ure
Aim:  to raise questions about widely used measures of performance 

Control systems monitor performance over time – which usually means that they keep a check on several quantifiable measures to make sure that they remain within acceptable limits.  Many measures of performance are stated in financial terms, but we already know that these can have problems.  This case looks at return on investment, which is one of the most widely used financial measures.  In principle, managers make a decision, monitor the return on investment, and then use this information to update their later decisions.  In practice, there are practical problems with this view, some of which have been collected by McKlusky-Ure.  For example, ROI is slow to respond, gives a very limited view, depends on accounting conventions, and so on. 
BG Group
Aim: to suggest some of the risks met in a major gas company.  
The oil and gas industry is inherently risky.  The obvious risk comes from spending a huge amount on exploration and not finding any useable reserves.  This risk is increased by the long lead times between the start of a project and generating cash, uncertainty about future prices, taxation, changing government policies, and so on.  To assess their overall risks, BG consider likely events from four viewpoints – geologists and geophysicists who consider likely finds, engineers who consider extraction problems, health and safety who consider safety and environmental risks, and economists who consider financial risks.  These views on risk are combined with other information, and BG can form its long term policies and decisions. 
CASE STUDY – COPELAND AND JOHNSON
Copeland and Johnson is a well-established company which specialises in arranging marine insurance.  There are several aspects to their work, outlined in the description of their operations.  The company’s mission outlines its approach, and all operations should work together to achieve its overall aims. 
· What aspects of their operations do C&J focus on?  Does this seem reasonable in the light of their mission?

The emphasis of operations is set by the second part of their mission.  This defines some broad goals for operations, in particular:

1. the highest levels of customer service and satisfaction

2. long-term, mutually beneficial partnerships with our customers, employees, and shareholders 

3. flexible operations to meet the needs of each individual customer 

4. efficient operations that give the lowest overhead costs in the industry 
5. knowledgeable, trained and motivated staff 

6. long term commitment to the industry
7. continuous review and improvement of operations

8. fair returns for the risks accepted by shareholders
The main themes of these goals are customer service (numbers 1, 2, 3 and 5), efficient operations (numbers 3, 4 and 7), fair treatment of staff (numbers 2 and 5), fair treatment of shareholders (numbers 2 and 8), and commitment to the industry (number 6).  These seem laudable aims, but the question is whether they fit in with the first part of the mission, which is ‘to be an acknowledged leader in the supply of marine insurance on the international market.  We shall achieve this by using the highest professional standards and integrity to provide our customers with the best possible service.’  We can argue that there seems little connection between the two parts of the mission.  The first part says that the company wants to be an industry leader – but the second part does not mention this.  The company presumably say that the operations goals in the second part inevitably lead to their overall aim, but this is not necessarily true.  Their operations goals could lead to a small company that is in no way a leader.  The third part of the mission gives more support to the second part – but again this does not really relate to the first part. 
· What is involved in implementing their operations strategy?

In this case, the main thrust of implementing the mission is to translate the aspirations of the mission into actual operations.  We know the goals of operations from part two of the mission; we also have an outline of the operations.  Implementation means arranging the operations so that the goals are achieved.  For example, the ‘insurance shop’ is the main point of contact between C&J and customers.  The goals say that this should be staffed by knowledgeable, trained and motivated people who develop relationships with customers and give a personalised service that aims at the highest levels of customer satisfaction.  At the same time, these operations should be efficient, flexible, and continually improved.  We could continue arguing in this way to suggest required features of all the operations.  The ‘backroom financing’ must assess risks properly to make sure that C&J can give reasonable returns to shareholders; the ‘claims office’ must tailor their work to individual circumstances, and so on.
· What problems do you think C&J have in implementing their operations strategy?  How could they overcome them?

No specific problems are identified in the case, so this is largely a matter of opinion and conjecture.  However, there are some obvious problems – such as assessing the risk posed by each customer, attracting suitably qualified staff, developing relationships with syndicates willing to accept larger risks, keeping costs low without the economies of in larger companies, deciding the soundness of each claim, and so on.  Many other types of problem might be suggested. 
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